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SBU 2020

Quiz 33

What would you open with these hands if you were a) non-vulnerable

b) wvulnerable

a KQJ10973 a A7 a 10

v 85 v Q105 v K83

*9 ¢ AQJB632 ¢ Q8

& J42 & 4 & K976432
a AKJ96542

v 107

¢ 83

&5

a) What would you open with this hand if you were non-vulnerable?

b) If RHO opened 14 what would you overcall?

a AJ54
v3

¢ A1063
& AJ72

Partner opens 3v, vulnerable, and the next hand passes.

What do you respond?

A 873

v 95

¢ Q1092
& A654

You are West. Your side is non-vulnerable, opponents are vulnerable.

Partner opens 3¢. What do you respond?

Lesson 33 (quiz)

a7

v AKQJ865
¢+ KQJ

&« 32



